Chapter 3 Project Management

3.1.

Project (Project) is a group of related tasks. They must perform these tasks in order to achieve their intended purpose. The beginning and the point of completion are only one point. Activity means the work that is part of the project. It takes time and resources to do that. The task must have an identifiable start and end point. Therefore, the completion of the project will be achieved by the objectives. Project management is required. Planning And control the project. The project is based on the objectives of the project in a timely manner, efficiently and effectively.

The beginning of the project is something to consider. Consider the feasibility of the project. Scheduling work Activity Management And the team members who do the project. All this is an important part of making the project smooth. And successful Project managers need to have control over their work by scheduling activities within the project and managing those activities at an effective time. Management can use the method. GANTT Charts and PERT Diagrams help manage the project.

3.2. Gantt Chart and Pert Diagram

Gantt Chart (Gantt Chart) is a diagram that represents the work. The Y axis represents the tasks in the project, and the X axis represents the time of each task. By writing a bar instead of a job. The length of the bar is directly proportional to the working time. The graphs must be sorted according to the work plan. The Gantt chart is a tool used to plan and schedule the work of the project. It is easy to use. And nowadays, the Gantt Chart is also a tool for project planning. However The Gantt chart will not clearly show the relationship between the work. And it can not be said that the delayed work will affect the project. So large projects with distributed systems. And a lot. There are complex operating procedures. The PERT and CPM techniques are more commonly used.
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The Pert Diagram is a diagram that represents a task. Each task must be written with a node. The c (Node) starts the task, followed by the line representing the job title, separated by "," followed by the length of the operation and ending at the node, represented by a circle and a number. Numbers begin with a small value, and then add more values ​​to write each node. Project Management with PERT (Program Evaluation and Review Technique) and CPM (Critical Path Method) is an analysis of the network used in project management. The beginning of the project until the closing of the project. There are various tasks. The distribution is related to each other. The objectives and principles of PERT and CPM are similar. The PERT will focus on time to implement the project. The CPM will focus on the cost of the project. But nowadays, there is a common use of the word PERT. One word can mean the use of CPM techniques.

Perth Diagram (Pert Diagram) data from the table top operation plan.

B - E = 3 + 5 = 8

C-A - E = 2 + 7 + 5 = 14

C-A - D = 2 + 7 + 8 = 17

Purpose of PERT

PERT is a program that provides an overview of the project by networking. Work order And the relationship between activities. The purpose is to

1. Project Planning. It will calculate the working time. It shows the activity that each activity should start. When completed It can be defined as any activity that is important. Delayed work Or delay can not exceed

2. Project Control. Can control the work as planned. And control not to delay than scheduled.

Resource management: resources, such as investments, personnel, equipment, and more, can be used efficiently and fully.

4. Project Management The work may need to be accelerated to complete. It can be done by accelerating any activity. To complete the task in a faster time.

Critical Paths will be determined by the longest running time. The third is C - A - D, totaling 17 days. That means every operation in each step. The project will be completed in 17 days. In some projects there may be more than one crisis line.

Project Accelerator

Critical work is the longest-running segment of the workforce. If the work or activity within the Crisis line is slower than that specified in the project. That means that the project will be completed slowly. Therefore, the control of the project has been completed as scheduled. Crisis management activities need to be controlled as planned. So if you want to accelerate your project faster. It can be done by accelerating activities within the crisis.
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Work 1
A – C – G
= 7+9+13
= 29

Work 2
A – D – H
= 7+11+13
= 31

Work 3 
B – E – H
= 8+8+13
=29

Work 4
B – F – I
= 8+10+14
=32 ---( Crisis line
The B-F-I is a 32-day critical timeframe. I have to deal with this line. Assuming that the project needs to be completed within 28 days and cost minimally.

B - F - I shows that activity B has the lowest daily charge, so it accelerates Activity B from 8 days to 6 days.

A - C - G = 7 + 9 + 13 = 29 Second Line A - D - H = 7 + 11 + 13 = 31 ---  Critical Line

B - E - H = 6 + 8 + 13 = 27

B - F - I = 6 + 10 + 14 = 30

After Accelerating Activity B, the project has not been completed in time. So we have to accelerate other activities. The cost of activity H has a minimum of 100 baht per day, so choose activity H by acceleration from 13 days to 12 days.

A - C - G = 7 + 9 + 13 = 29

A - D - H = 7 + 11 + 12 = 30 ---  Crisis line

B - E - H = 6 + 8 + 12 = 26

4 B - F - I = 6 + 10 + 14 = 30 ---  Critical lines

After hastening activity H has not completed the project at the scheduled time. So we have to accelerate other activities. There are two routes in this line: A - D - H and B - F - I. The first route D has the lowest cost of 125 baht per day and accelerates 2 days faster. Second, Activity F will have a minimum cost of 100 baht per day and accelerate 3 days faster. It will accelerate D and F activities for 2 days. Activity F can accelerate 3 days faster, but if considered. I can see that even accelerated. F for 3 days and did not make the project can be completed faster. If the acceleration of F activity is 3 days will result in increased costs by the cause.

A - C - G = 7 + 9 + 13 = 29 ---  Critical lines

A - D - H = 7 + 9 + 12 = 28

B - E - H = 6 + 8 + 12 = 26

B - F - I = 6 + 8 + 14 = 28

After accelerating activities D and F, the project has not been completed in time. So we have to accelerate other activities. The cost of Activity A is 150 baht per day, so choose Activity A by accelerating time from 7 days to 6 days.

A - C - G = 6 + 9 + 13 = 28 ---  Critical Line

A - D - H = 6 + 9 + 12 = 27

B - E - H = 6 + 8 + 12 = 26

B = F - I = 6 + 8 + 14 = 28 ---  Critical Line

By reducing Activity A, B, D, F and H, the project can be completed within 28 days as planned. There will be two critical lines of work. The maximum number of days is 28 days, and the cost of the expedition is expected to increase. Details can be shown as follows.
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	Including increased expenses from accelerated projects.
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